O AHgHy = —2+ 3v— 2 (-1 < x < 2) o ADAT A%k FL
Fot?

23 16
®-= @-3 0O-

> w



A A(-4, -3), B(11, 9) ol tisto] A AB & 1:2 = H&dh=

@ (1,1) @) (gg) ® (3,3)

® (33) © (65)



AP 919 vl A A(-3, -3), B(3, -3), C(3, 5), D(=3, 5) & #7
Moz sk AAZHY ABCD7F itk ABCD 9] {olg o5 &ohs
A Ao] 4 Atk HE 9o FHEE?

@ (-4,0) @ (0,1) ® (0,2)

@ (1,2) ©® (4.3)



4. A (4,5) & AA 3x -4y -2 = 0 Ao] 9] A—E FoHH?

® -1 @ 0 ®1 @ 2 ® 3



T y=x>-8x+a® I} x=Tt] WHO xFEIT6, b

27

@ 12 ® 13 @ 14 ® 15



£ Fstofet.

sf

WA B -x=09

il
3

_. .

Ul Ul
4 3



& Fatofet.

s

94

z+3
5

X+2y+3z2=7

|

Il I Il
= = w

_. -

~ I~ I~



—2y=1 i
agugy 7 o) g FokE x = p, y = ¢ E
xy=y* =6

r,y=s°lth. p+q+r+s2 gL ot}

5 L
=%

rr



MEA px o> 7O W< -1 EE x> b T, A% g bO)
T

g Fafole

Ct-

v



2 _
10. agzsg |t IO g0
x2—2x—3>0

® x>-1 @ -4<x<-1 ® 0<x<4

@ 1<x<4 ©® -4<x<3



11. ‘1];51@2)(7_)7_4:0,X—Qy—zzo’y:ax+27}_21_|]
g o, A a o 27

o

HellA

@2 @1



LE A4 xof thote] a2 + dkx + 2k +6 > 0°] A LT

& o, k%]
B9
= A A 3 3
O 2E4s ®_1<k<§ @—§<k<1
@ sh= st @k<—1,k>§



13. T HA(-1,3),B(6,-2)°] tsto] ABS3 : 2 2 YEst= o



14. 7 (2. 1) &4 y = 20+ 2 Aol o] A7

@ V5 @ V6 ® 2 @ V3 ® V2



oA

H

4
+
<X
@y

4
+
<x
D y<

4
+
> X
@ vy

4
+
> X
®y>

y=x+4
®



